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@Zc*]:
t6,p!ÎZÑ]�z�V6,�ì:zZzwZzgz�zxXCÙ�Z[Æa/VÅ®Z�Z�ág>êìXÓx�VÐÎZßV»�Z[�bÑiò
ìX

/V6,�ì (100) ÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ãÎ 08 ÎZÑ]�ÔZk~Ð¤(̈DÃÃð 10 zZzw~ .1
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  (10x3 = 30 Marks) �Z]��X 10 ÎZwÆa

zZzw
X1

Two products X and Y are used as follows:
Normal Usage = 1,000 units per week
Maximum Usage = 1,500 units per week
Minimum Usage = 500 units per week

Re-order Quantity
X = 6,000 Y = 10,000
Re-order Period

X = 4 to 8 weeks
Y = 2 to 5 weeks

C±ï YEÙX
Minimum Stock Level (ii) Re-order Level (i)

Average Stock level (iv) Maximum Stock Level (iii)

qgzfsÄZ**]6,¿â^ÉÀ�/õGX X2
Time Keeping (i)
Book Keeping (ii)

§j6,Z:gt»gÙX (Last in First Out) LIFO fsÅ¬]Åæ�Ð X3

Purchased Issued

Date Quantity Unit Price P.U (Rs.) Date Quantity Units

Jan 3, 2022
Jan 18, 2022
Jan 25, 2022
Jan 28, 2022

750 Kg
350 Kg
600 Kg
500 Kg

2
2.10
2.20
2.30

Jan 19, 2022
Jan 26, 2022
Jan 29,2022
Jan 30, 2022

850 Kg
450 Kg
510 Kg
150 Kg1/3



~�ÛtzZãÙX (Financial Accounting) Zzgâ1C3D (Cost Accounting) Ñ�'3D X4

(Un-avoudable) Zzg**�.Þ¤/m, (Avoidable) Å=ôÙXzR,yZzzgÆ�.Þ¤/m, (Labour Turnover) zR,yZzzg X5

z�;]Åz�s#�,X
ÐM\HB�?Ñ�'3DÆ£�ÃÒyÙX (Cost Accounting) Ñ�'3D X6

Æ§i6,Z:gt»gÙX (Simple Average) fsÅ¬]Åæ�Ð��{Zz� X7

Receipts
December 1 Opening balance 500 units @ Rs. 4 per unit
December 5 200 units @ Rs. 4.25 per unit
December 12 Received 150 units @ Rs. 4.10 per unit
December 20 Received 300 units @ Rs. 4.50 per unit

December 25 Received 400 units @ Rs. 4.00 per unit
Issues
December 4 Issued 200 units
December 10 Issued 400 units
December 15 Issued 100 units
December 19 Issued 100 units
December 26 Issued 200 units
December 30 Issued 250 units

Ñ�'Å°p�D�ñVßVÆ�BZyÅz�s#�,X (Variable & Fixed) oZzgx X8

qgzfsÄZ**]6,¿â^ÉÀ�/õGX X9

Allocation of Overhead (a)

Apportionment of Overhead (b)

Æ|xÃÒy�,X Time and Motion Study X10

�zx z
Åz�s# (Different Factors) ÆZúZï Labour cost Control ÐM\HB�? Labour Cost Control X11

�,X
X12

No. of workers at the begining of year = 3,800
No. of workers at the end of year = 4,200
During the year 40 workers left, while 160 workers are discharged.  600 workers were
required during the year, of those 150 workers are recruited because of leavers and rest

are engaged in accordance with an expansion scheme.

ÃC[ÙX Labour Turnover �g`fs§hVÅæ�Ð
Replacement Method (c) Flux Method (b) Separaton Method (a)
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Å,Ðz�s#�,X (Classification) ÐM\HB�?Zzzg�Å�gzÈ~ (Over Head) Zzzg� X13

X14

Annual Requirement = 600 units
Cost of Material = Rs. 40 per unit
Cost of Placing and Receiving = Rs. 50
Annual carrying cost of inventary = 10%

Opening Stock = 150 units
Closing Stock = 750 units

C[�,X
EoQ (a)

Average Inventory (b)
No. of order per year (c)

»gÙX (Cost Sheet) fsÅ¬]Åæ�Ð®Ñ�' X15

Particulars Amount (Rs.) Particular Amount (Rs.)

Direct Material

Direct Expenses

Direct Wages

Wages of Fireman

Lighting

Store Keeper Wages

Oil and Water

Power

4,00,000

50,000

20,000

10,000

6,000

4,000

2,000

5,000

Office Stationary

Telephone

Charges

Salesman Salary

Carriage Outward

Advertising

Wareshouse

Charges

Sales

2,000

2,500

5,000

1,500

2,500

2,000

2,10,00

///
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